
Total number oJ prlnted pages-4

63 (rT 819) rZr.N

2()18

FUZZY LOGIC AI\TD TTIETJRAL NTETWORI(

Paper : IT 819

Full Marks : tOO

TIme : Three hours

Tlrc ftgures in the margin iltdicate
Jull marks Jor the questlons.

Arswer ang fiue quest[ons out oj seoen.

1. Answer all questions : I Ox2=2O

(i) Deffne activaflon function.

(it Compare weights and btas of neural
network.

/u0 List the appllcations of neural network.

(ru.l Name the different types of
Defuzzifi cafl on technlques.

(u) State core support and boundary in
membership function.

Contd.



(ui)

tua

tuia

Dlscus about the enerSr function used
in dlscrete Hopfield network.

What is the classiflcation of training ?

Write .four advantages of genetic
algorithm.

Deflne Fuzzy Cartesian product.

Deflne Mutation.

State the algorithm of Hebb Net with
its architecture. 8

Draw the archltecture of ADALINE and
MADALINE network. 6

Using Venn diagram, sketch the
relatlon among Neural networks,
GeneUc algorithm and fuzzy logic.

6

(k)

(x)

(a)

b)

(c)

2.

3. (a) Deflne classlcal set (crisp). Differenflate
fuz.zy set from classlcal set and wrlte
propertles of classlcal (crisp) set.

2+8

@ What ls fuzzy cornplement ? Check
whether the funcflon x+ A- xA can be
firzzy union.
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4. (a) Dlstinguish between feedforward and
feedback neural network. Compare
their input and output mapping.

10

@ What are the various active building
blocks of neural network ? 10

What is XOR problem ? Draw and
explain the architectural graph of
network for solving XOR problem.

2+8=10

What is Backpropagation ? With a
schematic two layer feed forward neural
network, dertve lts learning algorithm.

2+8=1O

What is genetic algorlthm ? Explain
different steps of genedc algortthm with
a flowchart. 10

h) A Hopfield Network made up of 5
neurons, whlch is required to store the
following three fundamental memorles

B1 = {+1, +1, +1, + l, + 1,}"
eZ={* l, -1, -1, +1, -r,Fn
E3 = {-1, +1, -1, + l, +1,}"

Evaluate the 5-by-5 synaptic weight
matrlx of the network. 10

(a)

(b)

5.

(a)6.
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7. (a) A linguistic variable Xwhich measures
the academic excellence is taken from
universe of discourse U= {L 2 3 4 5 6
7 8I 1O). The membership functions
are defined as follows.

p(Excellence)= {(4, o.z)(0, o.o)(to, t)},

p(Good)= {(6, o.r)(2, o.s)(s, o.exe, r)(ro, r)}
Constmct the membership function of
good but not excellent. 8

(b) Write notes on the following :

4x3=12
(i) ambiguity
(ii) Fuzziness

(tii) in exactness

(iu) Fuzziffcation interface
(u) Knowledge base in finzy logic !

controller
(ul activation model.
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